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	τ1 (ns)
	f1
	τ2 (ns)
	f2
	τavg (ns)

	CC4349 t0 b2
	3.560 ± 0.014
	0.926 ± 0.013
	0.438 ± 0.049
	0.074 ± 0.013
	3.327 ± 0.058

	CC4349 t60 b2
	3.505 ± 0.021
	0.904 ± 0.006
	0.629 ± 0.091
	0.096 ± 0.006
	3.230 ± 0.012

	zep B2
	3.457 ± 0.021
	0.811 ± 0.007
	0.920 ± 0.057
	0.189 ± 0.007
	2.992 ± 0.045

	CC4349 t0 b3
	3.410 ± 0.099
	0.961 ± 0.000
	0.506 ± 0.107
	0.039 ± 0.000
	3.296 ± 0.100

	CC4349 t60 b3
	3.345 ± 0.049
	0.963 ± 0.003
	1.825 ± 0.049
	0.037 ± 0.003
	3.289 ± 0.041

	zep B3
	3.280 ± 0.000
	0.843 ± 0.012
	1.000 ± 0.028
	0.157 ± 0.012
	2.921 ± 0.032



